&l A |] | 42 28 ) 5T i 5 22

= 2014/1 | 2013/1 |siAm=o|sasemnz®w
B 102.9 100.5 0.1 2.4
ﬂvbh Fvk 98.5 98.7 0.2 A 02
Rk 100.2 100.2 0.0 0.0
L 98.6 98.7 A 038 A 0.1
/N AR 120.7 99.3 2.2 21.6
R+t 103.2 93.9 0.0 9.9
L LR 2 101.0 92.2 0.3 9.5
A LE R 105.0 99.7 0.0 5.3
g & A i R 99.8 98.7 0.0 1.1
BEHEEH 98.3 97.6 0.0 0.7
(X 42 £ 102.7 101.9 0.0 0.8
i = ] 105.4 101.8 0.0 3.5
AT L REVE S Ak 86.2 82.2 0.0 4.9
R il £ 106.6 104.9 0.0 1.6
= sk A 103.2 97.8 0.0 5.5
AT LA AR 96.0 87.5 14 9.7
EZ ¥ ] 104.2 105.1 0.1 A 09
Tt £ #% 107.9 108.3 0.0 A 04
AT L AR 105.3 100.4 0.0 4.9
S EE R R 107.1 110.6 0.0 A 32
-Gk 108.1 98.4 3.1 9.9
FILS=HLEEE & 99.9 96.2 0.0 3.8
FAT 109.1 101.3 0.8 7.7
FILSZYH L -BEEL (DAL 99.4 96.6 0.3 2.9
IR T 1 HXE 101.2 103.0 0.0 A 17
ek iR iR

= 2014/1 | 2013/1 |siAm=|saenE®
B 110.5 102.4 0.2 7.9
RILE-Fyk-RC 102.1 101.5 0.1 0.6
R4t 123.7 101.3 0.7 22.1
(X425 118.1 107.0 0.3 10.4
EZ ¥ £ 122.2 107.9 0.4 13.3

2 AP ihis 3

= 2014/1 | 2013/1 |siAm=o|aasemnz®
B 130.0 115.4 0.9 12.7
RILE-Fyb{F 110.8 103.0 1.7 7.6
HEHF 20104
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= 2014/2 | 2013/2 |wiAm=o|aasemnz®
B 102.8 101.0 A 02 1.8
ﬂ-\)bh Fvk 98.4 98.7 A 0.1 A 03
Rk 100.2 100.2 0.0 0.0
L 99.5 99.6 0.9 A 0.1
/N AR 120.8 101.8 0.1 18.7
R+t 103.2 93.9 0.0 9.9
L LR 2 101.0 92.2 0.0 9.5
0 [ e i 104.4 99.7 0.0 4.7
g & A i R 100.2 98.1 0.4 2.1
BEHEEH 98.5 97.4 0.2 1.1
(X 42 £ 102.2 101.6 0.0 0.6
i = ] 106.3 99.5 1.2 6.8
AT L REVE S Ak 86.6 83.6 0.5 3.6
R Eill £ 106.0 104.9 0.0 1.0
= sk A 102.8 97.6 0.0 5.3
AT LA AR 96.6 89.2 0.6 8.3
EZ ¥ ] 104.2 104.3 0.0 A 0.1
Tt £ #% 107.9 108.3 0.0 A 04
AT L AR 105.7 101.8 0.4 3.8
S EE R R 107.1 110.6 0.0 A 32
-Gk 111.3 104.2 3.0 6.8
FILS=HLEEE & 99.9 97.7 0.0 2.3
FAT 110.2 106.1 1.0 3.9
FILSZYH L -BEEL (DAL 99.6 96.0 0.2 3.7
IR T 1 HXE 101.2 103.0 0.0 A 17
ek iR iR

= 2014/2 | 2013/2 |wiAm=o|aasemnEw
| 109.2 105.9 A 13 3.1
RILE-Fyk-RC 101.9 102.7 A 02 A 08
R4t 121.9 106.9 A 15 14.0
(X425 116.7 110.2 A 12 5.9
EZ ¥ £ 120.4 111.8 A15 7.7

2 AP ihis 3

= 2014/2 | 2013/2 |wiAm=o|sasemE®
| 127.8 120.2 A 18 6.3
RILE-Fyb{F 108.9 107.0 A 17 1.8
HEHF 20104
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= 2014/3 | 2013/3 |siAm=o|aaemnz®
B 102.8 101.1 0.0 1.7
ﬂ-\)bh Fvk 98.3 98.4 A 03 A 0.1
Rk 100.2 100.2 0.0 0.0
L 99.9 100.0 0.3 A 0.1
/N AR 118.3 105.0 A 22 12.7
R+t 103.2 96.5 0.0 6.9
L LR 2 101.4 92.0 1.2 10.2
0 [ e i 103.9 99.7 0.1 4.2
g & A i R 100.2 98.1 0.0 2.1
BEHEEH 98.5 97.4 0.0 1.1
(X 42 £ 102.2 101.7 0.0 0.5
i = ] 106.0 99.5 0.0 6.5
AT L REVE S Ak 87.4 84.8 0.9 3.1
R Eill £ 107.5 104.9 14 25
= sk A 102.8 97.6 0.0 5.3
AT LA AR 97.3 90.4 0.2 7.6
EZ ¥ ] 104.1 103.9 A 0.1 0.2
Tt £ #% 107.9 107.9 0.0 0.0
AT L AR 105.9 101.8 0.0 40
S EE R R 107.1 108.8 0.0 A 16
-Gk 107.2 108.5 A 37 A 12
FILS=HLEEE & 99.9 97.3 0.0 2.7
FAT 111.2 108.1 0.9 2.9
FILSZYH L -BEEL (DAL 99.8 96.6 0.2 3.3
IR T 1 HXE 101.2 103.0 0.0 A 17
ek iR iR

= 2014/3 | 2013/3 |wiAm=|aasemnE®w
B 109.0 106.6 A 03 2.3
RILE-Fyk-RC 103.3 103.1 0.0 0.2
R4t 122.6 110.2 0.1 11.3
(X425 116.8 1115 0.1 48
EZ ¥ £ 120.6 113.3 0.2 6.4

2 AP ihis 3

= 2014/3 | 2013/3 |wiAm=o|sasemnz®
| 127.4 122.0 A 02 4.4
RILE-Fyb{F 108.5 111.9 A 06 A 30
HEHF 20104
ERER 20144058 24H
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= 2014/4 | 2013/4 |wiAwm=o|sasemnz®
B 105.7 101.5 2.8 4.1
ﬂvbh Fvk 101.2 98.3 3.0 3.0
Rk 103.1 100.2 2.9 2.9
L 103.3 98.7 3.4 4.7
/N AR 121.1 105.2 2.4 15.1
R+t 106.1 101.2 2.8 4.8
L LR 2 104.3 96.3 2.9 8.3
A LE R 106.8 104.6 2.8 2.1
g & A i R 102.7 97.0 25 5.9
BEHEEH 100.7 95.7 2.2 5.2
(X 42 £ 105.1 102.2 2.8 2.8
i = ] 109.5 100.5 3.3 9.0
AT L REVE S Ak 90.1 86.0 3.1 4.8
R Eill £ 110.6 106.6 2.9 3.8
= sk A 105.7 102.6 2.8 3.0
AT LA AR 100.9 91.8 3.7 9.9
EZ ¥ ] 107.3 104.1 3.1 3.1
T B 4R 111.0 107.9 2.9 2.9
AT L AR 109.0 101.8 2.9 7.1
S EE R R 110.2 107.1 2.9 2.9
-Gk 108.0 106.8 0.7 1.1
FILS=HLEEE & 103.0 100.9 3.1 2.1
FATE 114.7 107.2 3.1 7.0
FILSZYH L -BEEL (DAL 102.9 97.2 3.1 5.9
mIPNT 1 HAE 103.9 103.0 2.7 0.9
ek iR iR

= 2014/4 | 2013/4 |miAm=o|sasemnE®
B 109.1 107.5 0.1 1.5
RILE-Fyk-RC 102.9 103.1 A 04 A 02
R4t 123.4 112.9 0.7 9.3
(X425 117.1 110.6 0.3 5.9
EZ ¥ £ 119.7 116.1 A 07 3.1

2 AP ihis 3

= 2014/4 | 2013/4 |miAwm=o|sasemnz®
B 127.0 123.8 A 03 2.6
RILE-Fyb{F 110.1 112.6 1.5 A 22
HEHF 20104
ERER 20144058 24H
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= 2014/5 | 2013/5 |wiAwm=o|siasemnE®
A T 1) 106.1 101.6 0.3 4.4
ﬂvbh Fvk 101.2 97.7 0.0 3.6
Rk 103.1 100.2 0.0 2.9
L 102.1 99.2 A 12 2.9
/N AR 119.0 103.8 A 17 14.6
R+t 106.1 101.2 0.0 4.8
L LR 2 104.3 97.5 0.0 7.0
A LE R 106.8 104.7 0.0 2.0
g & A i R 102.7 97.7 0.0 5.1
BEHEEH 100.6 96.0 A 0.1 4.8
(X 42 £ 105.1 102.2 0.0 2.8
i = ] 109.1 103.1 A 04 5.8
AT L REVE S Ak 91.6 86.1 1.7 6.4
R Eill £ 110.6 106.6 0.0 3.8
= sk A 105.7 102.6 0.0 3.0
AT LA AR 102.1 93.8 1.0 8.8
EZ ¥ ] 107.5 103.9 0.2 3.5
T B 4R 111.0 107.9 0.0 2.9
AT L AR 111.5 107.9 2.3 3.3
S EE R R 110.2 103.0 0.0 7.0
-Gk 107.3 105.0 A 06 2.2
FILS=HLEEE & 103.0 100.9 0.0 2.1
FAT 114.6 106.2 A 0.1 7.9
FILSZYH L -BEEL (DAL 103.0 97.1 0.1 6.1
mIPNT 1 HAE 103.9 103.0 0.0 0.9
ek iR iR

= 2014/5 | 2013/5 |wiAm=|aasemE®
| 108.2 109.1 A 07 A 08
RILE-Fyk-RC 102.7 103.4 A 02 A 07
R4t 122.5 116.2 A 07 5.4
(X425 116.5 113.3 A 05 2.8
EZ ¥ £ 119.0 119.4 A 06 A 03

2 AP ihis 3

= 2014/5 | 2013/5 |wiAm=w|siasemnE®
| 126.2 125.3 A 06 0.7
RILE-Fyb{F 111.4 114.5 1.2 A 27
HEHF 20104
ERER 20144078 02H
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&l A |] | 42 28 ) 5T i 5 22

= 2014/6 | 2013/6 |wiAm=c|siaemz®
B 106.3 101.6 0.2 4.6
ﬂ-\)bh Fvk 100.6 97.1 A 05 3.6
Rk 103.1 100.2 0.0 2.9
L 103.7 98.3 1.6 5.5
/N AR 117.8 102.6 A 10 14.8
R+t 106.1 101.2 0.0 4.8
L LR 2 104.3 98.8 0.0 5.6
A LE R 106.8 104.7 0.0 2.0
g & A i R 102.7 97.7 0.0 5.1
BEHEEH 100.6 96.0 0.0 4.8
(X 42 £ 105.1 102.2 0.0 2.8
i = ] 109.1 103.1 0.0 5.8
AT L REVE S Ak 93.8 86.9 2.4 7.9
R Eill £ 110.6 106.6 0.0 3.8
= sk A 105.7 102.6 0.0 3.0
AT LA AR 103.6 93.9 1.5 10.3
EZ ¥ ] 107.5 103.7 0.0 3.7
T B 4R 111.0 107.9 0.0 2.9
AT L AR 111.5 107.9 0.0 3.3
S EE R R 110.2 103.0 0.0 7.0
-Gk 108.4 104.3 1.0 3.9
FILS=HLEEE & 103.0 100.9 0.0 2.1
FAT 114.3 105.2 A 03 8.7
FILSZYH L -BEEL (DAL 103.3 97.7 0.3 5.7
mIPNT 1 HAE 103.9 103.0 0.0 0.9
ek iR iR

= 2014/6 | 2013/6 |wiAm=w|siasemE®
B 108.3 106.1 0.0 2.1
RILE-Fyk-RC 102.7 102.4 A 0.1 0.3
R4t 122.8 112.0 0.2 9.6
(X425 116.7 110.4 0.2 5.7
EZ ¥ £ 119.2 115.9 0.2 2.8

2 AP ihis 3

= 2014/6 | 2013/6 |wiAtm=c|siaemE®
| 126.3 121.2 0.2 4.2
RILE-Fyb{F 115.0 107.4 3.2 7.1
HEHF 20104
ERER 20144078 18H
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= 2014/7 | 2013/7 |wiAm=|amasemnz®
B 106.6 102.2 0.3 4.3
ﬂvbh Fvk 100.6 97.5 0.0 3.2
Rk 103.1 100.2 0.0 2.9
L 104.4 99.0 0.7 5.5
/N AR 117.0 103.0 A 07 13.6
R+t 106.1 101.9 0.0 4.1
L LR 2 104.4 99.9 0.1 45
A LE R 106.1 105.3 A 04 0.8
g & A i R 102.0 97.4 A 07 4.7
BEHEEH 100.1 95.7 A 05 4.6
(X 42 £ 105.1 102.2 0.0 2.8
i = ] 108.1 105.1 A 09 2.9
AT L REVE S Ak 95.0 87.6 1.3 8.4
R Eill £ 110.6 106.6 0.0 3.8
= sk A 105.7 103.8 0.0 1.8
AT LA AR 104.5 94.1 0.9 11.1
EZ ¥ ] 107.8 103.8 0.3 3.9
T B 4R 111.0 107.9 0.0 2.9
AT L AR 111.5 107.9 0.0 3.3
S EE R R 110.2 103.0 0.0 7.0
-Gk 110.3 102.7 1.8 7.4
FILS=HLEEE & 104.6 100.6 1.6 40
FAT 113.2 104.1 A10 8.7
FILEZ 9L -FEEFAHAL 103.2 98.4 A 0.1 4.9
mIPNT 1 HAE 103.9 103.0 0.0 0.9
ek iR iR

= 2014/7 | 2013/7 |miAm=o|amasemnz®
B 108.2 107.5 A 0.1 0.7
RILE-Fyk-RC 102.6 102.5 A 0.1 0.1
R4t 122.3 114.7 A 04 6.6
(X425 116.4 112.3 A 03 3.7
EZ ¥ £ 118.9 118.1 A 03 0.7

2 AP ihis 3

= 2014/7 | 2013/7 |wiAm=o|amasemnz®
| 126.2 122.8 A 02 2.8
RILE-Fyb{F 112.6 108.1 A 2.1 4.2
HEHF 20104
{ERH 2014409 502 H
YERE GRSt SEEEHET
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= 2014/8 | 2013/8 |wiAtm=w|aiatemE®
B 106.4 102.4 A 02 3.9
ﬂ-\)bh Fvk 100.5 97.4 0.3 3.2
Rk 103.1 100.2 0.0 2.9
L 102.7 98.4 A 16 4.4
/N AR 116.5 103.4 A 02 12.7
R+t 106.1 101.9 0.0 4.1
L LR 2 102.8 100.7 0.0 2.1
A LE R 103.9 105.3 0.0 A 13
g & A i R 101.7 97.5 0.0 4.3
BEHEEH 100.1 95.7 0.0 4.6
(X 42 £ 104.3 102.2 0.0 2.1
i = ] 107.2 105.4 0.0 1.7
AT L REVE S Ak 96.5 86.9 1.6 11.0
R il £ 109.4 106.6 0.0 2.6
= sk A 103.9 103.9 0.0 0.0
AT LA AR 104.9 94.0 0.4 11.6
EZ ¥ ] 107.7 104.1 A 0.1 3.5
T B 4R 111.0 107.9 0.0 2.9
AT L AR 118.4 107.3 6.2 10.3
S EE R R 110.2 103.0 0.0 7.0
-Gk 112.0 101.3 1.5 10.6
FILS=HLEEE & 104.0 100.6 0.3 3.4
FAT 113.5 103.2 0.3 10.0
FILSZYH L -BEEL (DAL 103.2 98.4 0.0 4.9
mIPNT 1 HAE 103.9 103.0 0.0 0.9
ek iR iR

= 2014/8 | 2013/8 |wiAtm=w|aiatemE®
B 109.0 106.1 0.7 2.7
RILE-Fyk-RC 102.9 102.0 0.3 0.9
R4t 123.8 113.6 1.2 9.0
(X425 117.4 110.7 0.9 6.1
EZ ¥ £ 120.1 116.3 1.0 3.3

2 AP ihis 3

= 2014/8 | 2013/8 |wiAtm=w|aiaemE®
B 126.8 121.3 0.6 45
RILE-Fyb{F 112.0 106.5 A 05 5.2
HEHF 20104
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= 2014/9 | 2013/9 |wiAm=o|aasemnz®w
B 106.3 102.7 A 0.1 3.5
ﬂvbh Fvk 100.7 97.4 A 02 3.4
Rk 103.1 100.2 0.0 2.9
L 102.7 98.7 0.0 41
/N AR 116.7 105.8 0.2 10.3
R+t 106.1 102.2 0.0 3.8
L LR 2 102.5 101.0 A 03 1.5
A LE R 103.8 105.3 A 0.1 A 14
g & A i R 101.7 98.0 0.0 3.8
BEHEEH 100.1 95.7 0.0 4.6
(X 42 £ 104.3 102.2 0.0 2.1
i = ] 107.2 105.4 0.0 1.7
AT L REVE S Ak 96.8 86.6 0.3 11.8
R il £ 109.4 106.6 0.0 2.6
= sk A 103.9 104.1 0.0 A 02
AT LA AR 105.1 94.0 0.2 11.8
EZ ¥ ] 107.7 104.1 0.0 3.5
T B 4R 111.0 107.9 0.0 2.9
AT L AR 118.4 107.3 0.0 10.3
S EE R R 110.2 103.0 0.0 7.0
-Gk 114.4 102.6 2.1 11.5
FILS=HLEEE & 104.0 100.6 0.0 3.4
FAT 113.2 104.9 A 03 7.9
FILEZ 9L -FEEFAHAL 103.1 98.8 A 0.1 4.4
mIPNT 1 HAE 103.9 103.0 0.0 0.9
ek iR iR

= 2014/9 | 2013/9 |wiAm=c|siasemnE®
B 111.1 107.2 1.9 3.6
RILE-Fyk-RC 103.9 102.2 1.0 1.7
R4t 126.4 116.3 2.1 8.7
(X425 120.7 114.4 2.8 5.5
EZ ¥ £ 1241 117.6 3.3 5.5

2 AP ihis 3

= 2014/9 | 2013/9 |wiAm=c|saemE®
| 129.5 124.0 2.1 4.4
RILE-Fyb{F 114.2 105.6 2.0 8.1
HEHF 20104
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= 2014/10 | 2013/10 |&1 A 35 3= )| &1 & 15 £ %)
BREY 105.5 102.5 A 038 2.9
RILE-Fvk 100.4 97.7 A 03 2.8
Rk 104.2 100.2 1.1 4.0
L 103.1 98.3 0.4 49
/N AR 115.5 108.2 A 10 6.7
R+t 105.6 103.2 A 05 2.3
L LR 2 101.0 99.6 A10 1.4
0 L E T 103.0 103.7 A 0.1 A 07
g & A i R 100.6 99.8 A 1.1 0.8
BEHEEH 98.3 98.3 A 16 0.0
(X 42 £ 104.3 102.2 0.0 2.1
i = ] 107.2 104.7 0.0 2.4
AT L REVE S Ak 98.4 86.2 0.5 14.2
R il £ 109.4 106.0 0.0 3.2
= sk A 102.6 102.8 A 03 A 02
AT LA AR 106.2 94.4 0.5 12.5
EZ ¥ ] 107.6 104.1 A0 3.4
Tt £ #% 111.0 107.9 0.0 2.9
AT L AR 118.4 107.3 0.0 10.3
S EE R R 108.6 107.1 A15 1.4
-Gk 115.6 104.1 1.0 11.0
FILS=HLEEE & 108.7 99.9 4.5 8.8
FAT 111.5 107.2 A15 4.0
FILEZ 9L -FEEFAHAL 103.7 98.7 0.6 5.1
mIPNT 1 HAE 103.9 101.0 0.0 2.9

ek iR iR

= 2014/10 | 2013/10 |&1 A 5 =)| &1 & 5 £ %)
| 111.0 106.7 A 02 4.0
RILE-Fyk-RC 104.2 101.6 0.3 2.6
R4t 127.4 114.7 0.8 11.1
(X425 121.4 113.3 0.6 7.1
EZ ¥ £ 125.0 116.3 0.7 7.5

2 AP ihis 3

= 2014/10 | 2013/10 |#i1 A s @ =) aEmE®)
| 128.2 122.9 A 1.1 43
RILE-Fyb{F 115.1 104.4 0.8 10.2
HEHF 20104
{ERH 201411 H821H
YERE GRSt SEEEHET
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= 2014/11 | 2013/11 | A s =) dEmE®)
| 105.3 102.5 A 02 2.7
RILE-Fvk 100.8 98.1 A 03 2.8
Rk 104.2 100.2 0.0 4.0
L 103.1 99.0 0.0 41
/N AR 114.2 111.9 A 1.1 2.1
R4t 105.6 103.2 0.0 2.3
L LR 2 102.0 99.6 0.0 2.4
0 L E T 103.2 103.7 0.0 A 05
g & A i R 100.6 99.8 0.0 0.8
BEHEEH 98.3 98.3 0.0 0.0
(X 42 £ 104.3 102.2 0.0 2.1
i = ] 107.2 104.7 0.0 2.4
AT L REVE S Ak 98.9 86.1 0.5 14.9
R il £ 109.4 106.0 0.0 3.2
= sk A 102.9 102.8 0.0 0.1
AT LA AR 105.9 94 4 A 03 12.2
EZ ¥ ] 107.6 104.1 0.0 3.4
Tt £ #% 111.0 107.9 0.0 2.9
AT L AR 119.0 105.3 0.5 13.0
AT SRR 108.6 107.1 0.0 14
-Gk 115.1 103.3 A 04 11.4
FILS=HLEEE & 108.7 99.9 0.0 8.8
FATE 111.5 108.1 0.0 3.1
FILSZYH L -BEEL (DAL 103.9 99.0 0.2 4.9
mIPNT 1 HAE 103.9 101.2 0.0 2.7

ek iR iR

= 2014/11 | 2013/11 |&1 A tm =) a1 mE®)
B 116.0 108.0 4.5 7.4
RILE-Fyk-RC 106.2 103.6 1.9 2.5
R4t 137.1 117.8 7.6 16.4
(X425 128.1 115.0 5.5 11.4
EZ ¥ £ 132.9 118.4 6.3 12.2

2 AP ihis 3

= 2014/11 | 2013/11 | A s =) mE®)
B 131.3 124.9 2.6 5.1
RILE-Fyb{F 119.1 105.8 3.5 12.6
HEHF 20104
{ERH 2014128 11H
YERE GRSt SEEEHET
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= 2014/12 | 2013/12 & A s =) EmEm)
BREY 104.8 102.8 A 04 1.9
RILE-Fvk 99.5 98.2 A 0.1 1.3
Rk 104.2 100.2 0.0 4.0
L 103.5 99.4 0.4 41
/N AR 113.0 118.1 A 1.1 A 43
R4t 105.6 103.2 0.0 2.3
L LR 2 102.0 99.9 0.0 2.1
0 L E T 103.2 103.8 0.0 A 06
g & A i R 100.6 99.8 0.0 0.8
BEHEEH 98.4 98.3 0.0 0.1
(X 42 £ 104.3 102.2 0.0 2.1
i = ] 107.2 104.7 0.0 2.4
AT L REVE S Ak 98.3 86.2 A 06 14.0
R il £ 109.4 106.0 0.0 3.2
= sk A 102.9 102.8 0.0 0.1
AT LA AR 105.8 94.7 A 0.1 11.7
EZ ¥ ] 107.7 104.1 0.1 3.5
Tt £ #% 111.0 107.9 0.0 2.9
AT L AR 119.0 105.3 0.0 13.0
AT SRR 108.6 107.1 0.0 14
-Gk 120.0 104.9 4.3 14.4
FILS=HLEEE & 108.7 99.9 0.0 8.8
FATE 113.2 108.2 1.5 4.6
FILSZYH L -BEEL (DAL 105.8 99.1 1.8 6.8
mIPNT 1 HAE 103.9 101.2 0.0 2.7

ek iR iR

= 2014/12 | 2013/12 |&i A 5 =) a1 & £ %)
B 116.9 110.4 0.9 5.9
RILE-Fyk-RC 107.0 103.4 0.8 3.5
R4t 134.7 122.8 1.1 9.7
(X425 130.7 117.8 2.0 11.0
EZ ¥ £ 136.1 121.7 2.4 11.8

2 AP ihis 3

= 2014/12 | 2013/12 & A=) daEm=Em)
| 129.6 129.0 A 15 0.5
RILE-Fyb{F 121.3 108.9 1.8 11.4
HEHF 20104
{ERH 2015401 H19H
ERE GRSt SEEEHET
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